Communications in Mathematics and Applications

Vol. 13, No. 3, pp. 987–1002, 2022 ISSN 0975-8607 (online); 0976-5905 (print) Published by RGN Publications DOI: 10.26713/cma.v13i3.2074



Research Article

A Non-Markovian Queue with Second Optional Service, Disasters, Working Breakdowns and Working Vacation

K. Santhi* ^(D) and A. Epsiya ^(D)

Department of Mathematics, Annamalai University, Chidambaram, India *Corresponding author: santhimano3169@gmail.com

Received: July 29, 2022 **Accepted:** October 17, 2022

Abstract. Inside this research article, we look at a non-Markovian queue (M/G/1) with second optional service, disaster events, working breakdowns and working vacation. There are two servers in the system: a primary and a backup. *First Essential Service* (FES) is delivered by a primary (backup) server to all arriving customers. A customer may choose the *Second Optional Service* (SOS) after his initial service is finished. When a disaster happens, all customers are made to evacuate the system, as well as the primary server crashes. The primary server is dispatched to repair at the first sign of a breakdown and the repair period begins right away. While a primary server is being repaired, a backup server is servicing customers at such a reduced rate. If a system is inactive while it is operating, the primary server will just go on vacation. The primary server, which is on working vacation mode and serving at a reduced rate, subsequently serves the new customers. The disasters have no effect on working vacation period. The supplementary variable methodology is used to determine the *probability generating function* (PGF) of the number of customers throughout typical peak times, working breakdown periods and working vacation periods, as well as specific metrics of effectiveness. Some statistical outcomes are shown at the end.

Keywords. M/G/1 queue, SOS, Disasters, Working breakdowns and working vacation

Mathematics Subject Classification (2020). 60K25, 90B22

Copyright © 2022 K. Santhi and A. Epsiya. This is an open access article distributed under the Creative Commons Attribution License, which permits unrestricted use, distribution, and reproduction in any medium, provided the original work is properly cited.

1. Introduction

Throughout many queueing situations, all arriving customer expects FES and only a subset of them may need a SOS from the primary (backup) server. An M/G/1 queueing system with a second optional service was researched by Madan [14]. Many authors, including Kalyanaraman and Murugan [8], Thangaraj and Vanitha [22], and Santhi and Murugan [18], explored the single server vacation queueing models with second optional service.

The concept of disasters occurring at random compels everyone to leave at the same moment. Towsley and Tripathi [24] were the first to present queueing models with disasters. 'Mass exodus' [3], 'queue flushing' [24], 'catastrophes' [11] and 'stochastic clearing' [27] are all terms used to describe disasters. Jain and Sigman [5] extended the M/G/1 queueing model to include disasters. Sridharan and Jayasree [20], Lee *et al.* [12], and Sudhesh [21] are only a few of the researchers mentioned.

In breakdown queueing model, A great deal of thought goes into the queuing model with an unstable server. In the majority of studies, the server is supposed to have experienced a difficulty and is instantaneously sent off to repair. More researchers put forward queueing models with server breakdown. An M/G/1 queueing system with a repairable server was proposed in Cao and Cheng [2]. Thiruvengadam [23] discussed about the queueing concept in terms of breakdowns. Thangaraj and Vanitha [22] investigated single server queueing models with unpredictable breakdowns. Throughout a working breakdown, the server stops to serve entirely then instead of serving at a reduced rate. A first queueing model with working breakdown was developed in Kalidass and Kasthuri [7]. Following that, Kim and Lee [9], Liou [13], Yang and Wu [26] studied non-Markovian queueing models with working breakdowns.

To use the vacation queueing strategy, the server suspends all operations for the duration of the vacation. Working vacation is a term that describes when a server operates at a reduced rate throughout a vacation period. Servi and Finn [19] developed the working vacation queueing approach, which was then generalised by Kim *et al.* [10], and Wu and Takagi [25]. Following that, several authors added working vacation Baba [1], Parveen and Begum [17], and Murugan and Santhi [16] to their queueing models.

Within that research, we investigate at "A non-Markovian modelling approach (M/G/1) including second optional service, disasters, working breakdowns and working vacation". A primary server and a backup server make up the system. FES is delivered by a primary (backup) server to all arriving customers. A customer may choose the SOS after his initial service is finished. As a reaction of the disasters, all existing customers just vanish, prompting the primary server to crash. The primary server is dispatched to repair in the event of a crash and instantly, the repair period started. As during repair period, a backup server serves arriving customers at such a reduced rate; whether there are customers inside the system, the backup server suddenly stops serving them, and the system is rebooted at its regular service rate by the primary server. During working vacation period, a primary server serves arriving customers at such a reduced rate. During vacations and downtime, the server charges a variable tariff.

We are trying to follow that how this study is structured. Overview of the model is summarised in Section 2. In Section 3, we derive the PGF of the number of customers in the system using the Kolmogorov equations, server states and supplementary variable technique of remaining service time when the primary server is in typical peak times, working breakdown and working vacation, respectively. Finally, we looked at some specific cases. In Section 4, the number of customers in the system and the customer's waiting time in the system are obtained as metrics of effectiveness. In Section 5, we perform a statistical outcomes of the model.

2. Overview of a Model

Consider a single server queue whose arrival is governed by a Poisson process with a λ arrival rate. The FIFO (*first in, first out*) rule of service discipline governs the system in the research. When the server seems to be in a typical peak times when there are no customers inside the system, the server will take a fixed-length vacation. If a customer arrives throughout a vacation, the primary server provides two types of services: *First Essential Service* (FES) and *Second Optional Service* (SOS) would then serve them at such a reduced rates μ_{wv_1} (> 0) and μ_{wv_2} (> 0), which we call it as working vacation period. Let η be the vacation completion rate and let the FES time S_{wv_1} be exponentially distributed whose probability density function (PDF) is $s_{wv_1}(x)$ and its Laplace Stieltjes Transform (LST) is $S_{wv_1}^*(\theta)$. After completion of ES the customer may opt for the SOS with probability p or the customer may leave the system without taking the SOS with probability q(p+q=1). The SOS time S_{wv_2} be exponentially distributed whose probability density function (PDF) is $s_{wv_2}(\alpha)$ and its Laplace Stieltjes Transform (LST) is $S_{wv_2}^*(\theta)$. At the vacation completion epoch the service to the last customer is lost and the service is restarted in the typical peak times with different distribution.

If the working vacation ends, then the server resumes the typical peak times with typical FES rate μ_{rb_1} (> 0) and SOS rate μ_{rb_2} (> 0) whose typical FES time is S_{rb_1} and SOS time is S_{rb_2} . Let we denote its PDF by $s_{rb_1}(x)$ and $s_{rb_2}(x)$ and its LST by $S^*_{rb_1}(\theta)$ and $S^*_{rb_2}(\theta)$.

Only when the primary server, which is exponentially distributed with rate δ , is operational do disasters occur. When disaster happens, all customers are compelled to exit the system, and the primary server crashes. The primary server is dispatched to repair at the first sign of a breakdown and the repair period begins right away. We assume the backup server provides the repairing period at quite a reduced ES rate μ_{wb_1} (> 0) and SOS rate μ_{wb_2} (> 0), which we call it as working breakdown period and the repair duration is exponentially distributed with rate γ . If any customer is now in the system for the rest of a repair, the backup halts the provider as well as the primary server reboots the typical peak duration at the typical service rate. Let S_{wb_1} denote the working breakdown FES time, its PDF by $s_{wb_1}(x)$ and its LST by $S^*_{wb_1}(\theta)$ and let S_{wb_2} denote the working breakdown SOS time, its PDF by $s_{wb_2}(x)$ and its LST by $S^*_{wb_2}(\theta)$. Also, the $S_{wv_1}, S_{wv_2}, S_{rb_1}, S_{rb_2}, S_{wb_1}$ and S_{wb_2} are considered to be mutually independent.

3. The Steady State Queue Length Distribution

Let $\mathcal{N}(t)$ represent the number of customers in the system at time *t*, and $\zeta(t)$ represent an indicative random variable defined by

- $\zeta(t) = \begin{cases} 0, & \text{if the primary server is idle on working vacation,} \\ 1, & \text{if the primary server is idle in typical peak time,} \\ 2, & \text{if the primary server is FES in working vacation,} \\ 3, & \text{if the primary server is SOS in working vacation,} \\ 4, & \text{if the primary server is busy FES in typical peak time,} \\ 5, & \text{if the primary server is busy SOS in typical peak time,} \end{cases}$

 - if the primary server is down for repair at time *t*.

Let $S_{wv_1}^0(t)$, $S_{wv_2}^0(t)$, $S_{rb_1}^0(t)$, $S_{rb_2}^0(t)$, $S_{wb_1}^0(t)$ and $S_{wb_2}^0(t)$ signify the remaining service time for the FES in working vacation, the remaining service time for the SOS in working vacation, FES in typical peak time, SOS in typical peak time, FES in repair periods and SOS in repair periods respectively, at time t.

$$\chi(t) = \begin{cases} S^{0}_{wv_{1}}(t), & \text{if } \zeta(t) = 2, \\ S^{0}_{wv_{2}}(t), & \text{if } \zeta(t) = 3, \\ S^{0}_{rb_{1}}(t), & \text{if } \zeta(t) = 4, \\ S^{0}_{rb_{2}}(t), & \text{if } \zeta(t) = 5, \\ S^{0}_{wb_{1}}(t), & \text{if } \zeta(t) = 6, \\ S^{0}_{wb_{1}}(t), & \text{if } \zeta(t) = 6. \end{cases}$$

The process $\{(\mathcal{N}(t), \zeta(t), \chi(t)); t \ge 0\}$ is then transformed into a Markov process with the supplementary variables $S^0_{wv_1}(t), S^0_{wv_2}(t), S^0_{rb_1}(t), S^0_{wb_1}(t), S^0_{wb_1}(t)$ and $S^0_{wb_2}(t)$. The following limiting probabilities are utilised to calculate the steady state queue length PGF:

$$\begin{split} \mathscr{V}_{0} &= \lim_{t \to \infty} \Pr\{\mathscr{N}(t) = 0, \zeta(t) = 0\}, \\ \mathscr{B}_{0} &= \lim_{t \to \infty} \Pr\{\mathscr{N}(t) = 0, \zeta(t) = 1\}, \\ \mathscr{R}_{0} &= \lim_{t \to \infty} \Pr\{\mathscr{N}(t) = 0, \zeta(t) = 6\}, \\ \mathscr{V}_{n,1}(x)dx &= \lim_{t \to \infty} \Pr\{\mathscr{N}(t) = n, \zeta(t) = 2, x < S^{0}_{wv_{1}}(t) < x + dx\}, \quad n \ge 1, \\ \mathscr{V}_{n,2}(x)dx &= \lim_{t \to \infty} \Pr\{\mathscr{N}(t) = n, \zeta(t) = 3, x < S^{0}_{wv_{2}}(t) < x + dx\}, \quad n \ge 1, \\ \mathscr{B}_{n,1}(x)dx &= \lim_{t \to \infty} \Pr\{\mathscr{N}(t) = n, \zeta(t) = 4, x < S^{0}_{rb_{1}}(t) < x + dx\}, \quad n \ge 1, \\ \mathscr{B}_{n,2}(x)dx &= \lim_{t \to \infty} \Pr\{\mathscr{N}(t) = n, \zeta(t) = 5, x < S^{0}_{rb_{2}}(t) < x + dx\}, \quad n \ge 1, \\ \mathscr{B}_{n,1}(x)dx &= \lim_{t \to \infty} \Pr\{\mathscr{N}(t) = n, \zeta(t) = 6, x < S^{0}_{wb_{1}}(t) < x + dx\}, \quad n \ge 1, \\ \mathscr{R}_{n,2}(x)dx &= \lim_{t \to \infty} \Pr\{\mathscr{N}(t) = n, \zeta(t) = 6, x < S^{0}_{wb_{1}}(t) < x + dx\}, \quad n \ge 1, \\ \mathscr{R}_{n,2}(x)dx &= \lim_{t \to \infty} \Pr\{\mathscr{N}(t) = n, \zeta(t) = 6, x < S^{0}_{wb_{1}}(t) < x + dx\}, \quad n \ge 1, \\ \mathscr{R}_{n,2}(x)dx &= \lim_{t \to \infty} \Pr\{\mathscr{N}(t) = n, \zeta(t) = 6, x < S^{0}_{wb_{1}}(t) < x + dx\}, \quad n \ge 1. \end{split}$$

With the previously indicated probabilities, the Kolmogorov equations for the queue length distribution are provided.

$$0 = -(\lambda + \eta)\mathcal{V}_0 + q\mathcal{V}_{1,1}(0) + q\mathcal{B}_{1,1}(0) + \mathcal{B}_{1,2}(0) + \mathcal{V}_{1,2}(0), \tag{1}$$

$$-\frac{d}{dx}\mathscr{V}_{1,1}(x) = -(\lambda + \eta)\mathscr{V}_{1,1}(x) + \lambda\mathscr{V}_0 s_{wv_1}(x) + q\mathscr{V}_{2,1}(0)s_{wv_1}(x) + \mathscr{V}_{2,2}(0)s_{wv_1}(x),$$
(2)

Communications in Mathematics and Applications, Vol. 13, No. 3, pp. 987-1002, 2022

$$-\frac{d}{dx}\mathscr{V}_{n,1}(x) = -(\lambda + \eta)\mathscr{V}_{n,1}(x) + \lambda\mathscr{V}_{n-1,1}(x) + q\mathscr{V}_{n+1,1}(0)s_{wv_1}(x) + \mathscr{V}_{n+1,2}(0)s_{wv_1}(x), \quad n \ge 2, \qquad (3)$$

$$-\frac{d}{dx}\mathscr{V}_{1,2}(x) = -(\lambda + \eta)\mathscr{V}_{1,2}(x) + p\mathscr{V}_{1,1}(0)s_{wv_2}(x),$$
(4)

$$-\frac{a}{dx}\mathcal{V}_{n,2}(x) = -(\lambda + \eta)\mathcal{V}_{n,2}(x) + p\mathcal{V}_{n,1}(0)s_{wv_2}(x) + \mathcal{V}_{n-1,2}(x), \quad n \ge 2,$$

$$0 = -\lambda\mathcal{B}_0 + \eta\mathcal{V}_0 + \gamma\mathcal{R}_0,$$
(5)
(6)

$$-\frac{d}{dx}\mathscr{B}_{1,1}(x) = -(\lambda + \delta)\mathscr{B}_{1,1}(x) + \lambda\mathscr{B}_0 s_{rb_1}(x) + q\mathscr{B}_{2,1}(0)s_{rb_1}(x) + \mathscr{B}_{2,2}(0)s_{rb_1}(x) + \eta s_{rb_1}(x)\int_0^\infty \mathscr{V}_{1,1}(y)dy + \gamma s_{rb_1}(x)\int_0^\infty \mathscr{R}_{1,1}(y)dy,$$
(7)

$$-\frac{d}{dx}\mathscr{B}_{n,1}(x) = -(\lambda + \delta)\mathscr{B}_{n,1}(x) + \lambda\mathscr{B}_{n-1,1}(x) + q\mathscr{B}_{n+1,1}(0)s_{rb_1}(x) + \mathscr{B}_{n+1,2}(0)s_{rb_1}(x) + \eta s_{rb_1}(x)\int_0^\infty \mathscr{V}_{n,1}(y)dy + \gamma s_{rb_1}(x)\int_0^\infty \mathscr{R}_{n,1}(y)dy, \ n \ge 2,$$
(8)

$$-\frac{d}{dx}\mathscr{B}_{1,2}(x) = -(\lambda + \delta)\mathscr{B}_{1,2}(x) + p\mathscr{B}_{1,1}(0)s_{rb_2}(x) + \eta s_{rb_2}(x)\int_0^\infty \mathscr{V}_{1,2}(y)dy + \gamma s_{rb_2}(x)\int_0^\infty \mathscr{R}_{1,2}(y)dy,$$
(9)

$$-\frac{d}{dx}\mathscr{B}_{n,2}(x) = -(\lambda+\delta)\mathscr{B}_{n,2}(x) + p\mathscr{B}_{n,1}(0)s_{rb_2}(x) + \lambda\mathscr{B}_{n-1,2}(x) + \eta s_{rb_2}(x)\int_0^\infty \mathscr{V}_{n,2}(y)dy + \gamma s_{rb_2}(x)\int_0^\infty \mathscr{R}_{n,2}(y)dy, \quad n \ge 2,$$
(10)

$$0 = -(\lambda + \gamma)\mathcal{R}_0 + q\mathcal{R}_{1,1}(0) + \mathcal{R}_{1,2}(0) + \delta \sum_{n=1}^{\infty} \mathcal{B}_{n,1} + \delta \sum_{n=1}^{\infty} \mathcal{B}_{n,2},$$
(11)

$$-\frac{d}{dx}\mathcal{R}_{1,1}(x) = -(\lambda + \gamma)\mathcal{R}_{1,1}(x) + \lambda\mathcal{R}_0 s_{wb_1}(x) + q\mathcal{R}_{2,1}(0)s_{wb_1}(x) + \mathcal{R}_{2,2}(0)s_{wb_1}(x),$$
(12)

$$-\frac{d}{dx}\mathscr{R}_{n,1}(x) = -(\lambda + \gamma)\mathscr{R}_{n,1}(x) + \lambda\mathscr{R}_{n-1,1}(x) + q\mathscr{R}_{n+1,1}(0)s_{wb_1}(x) + \mathscr{R}_{n+1,2}(0)s_{wb_1}(x), \ n \ge 2, \ (13)$$

$$-\frac{d}{dx}\mathcal{R}_{1,2}(x) = -(\lambda + \gamma)\mathcal{R}_{1,2}(x) + p\mathcal{R}_{1,1}(0)s_{wb_2}(x),$$
(14)

$$\frac{d}{dx}\mathcal{R}_{1,2}(x) = -(\lambda + \gamma)\mathcal{R}_{1,2}(x) + p\mathcal{R}_{1,1}(0)s_{wb_2}(x),$$
(15)

$$-\frac{u}{dx}\mathscr{R}_{n,2}(x) = -(\lambda + \gamma)\mathscr{R}_{n,2}(x) + \lambda\mathscr{R}_{n-1,2}(x) + p\mathscr{R}_{n,1}(0)s_{wb_2}(x), \quad n \ge 2,$$
(15)

where

$$\mathcal{V}_{n,i} = \int_0^\infty \mathcal{V}_{n,i}(y) dy; \ \mathcal{B}_{n,i} = \int_0^\infty \mathcal{B}_{n,i}(y) dy; \ \mathcal{R}_{n,i} = \int_0^\infty \mathcal{R}_{n,i}(y) dy, \quad i = 1, 2.$$

For $i = 1, 2$ the following LSTs and PGFs are used to solve (1)-(15):

$$\begin{aligned} \mathscr{V}_{n,i}^{*}(\theta) &= \int_{0}^{\infty} e^{-\theta x} \mathscr{V}_{n,i}(x) dx; \quad \mathscr{B}_{n,i}^{*}(\theta) = \int_{0}^{\infty} e^{-\theta x} \mathscr{B}_{n,i}(x) dx; \quad \mathscr{R}_{n,i}^{*}(\theta) = \int_{0}^{\infty} e^{-\theta x} \mathscr{R}_{n,i}(x) dx \\ \mathscr{V}_{i}^{*}(z,\theta) &= \sum_{n=1}^{\infty} \mathscr{V}_{n,i}^{*}(\theta) z^{n}; \qquad \mathscr{B}_{i}^{*}(z,\theta) = \sum_{n=1}^{\infty} \mathscr{B}_{n,i}^{*}(\theta) z^{n}; \qquad \mathscr{R}_{i}^{*}(z,\theta) = \sum_{n=1}^{\infty} \mathscr{R}_{n,i}^{*}(\theta) z^{n} \\ \mathscr{V}_{i}(z,0) &= \sum_{n=1}^{\infty} \mathscr{V}_{n,i}(0) z^{n}; \qquad \mathscr{B}_{i}(z,0) = \sum_{n=1}^{\infty} \mathscr{B}_{n,i}(0) z^{n}; \qquad \mathscr{R}_{i}(z,0) = \sum_{n=1}^{\infty} \mathscr{R}_{n,i}(0) z^{n}. \end{aligned}$$

Communications in Mathematics and Applications, Vol. 13, No. 3, pp. 987–1002, 2022

The following is the normalizing condition based on the notations above:

$$\mathscr{V}_{0} + \mathscr{B}_{0} + \mathscr{R}_{0} + \mathscr{V}_{1}^{*}(1,0) + \mathscr{V}_{2}^{*}(1,0) + \mathscr{B}_{1}^{*}(1,0) + \mathscr{B}_{2}^{*}(1,0) + \mathscr{R}_{1}^{*}(1,0) + \mathscr{R}_{2}^{*}(1,0) = 1.$$
(16)

We acquire the LSTs from equations (2), (3), (4), (5), (7), (8), (9), (10), (12), (13), (14) and (15).

$$-(\theta \mathscr{V}_{1,1}^{*}(\theta) - \mathscr{V}_{1,1}(0)) = -(\lambda + \eta) \mathscr{V}_{1,1}^{*}(\theta) + \lambda \mathscr{V}_{0} S_{wv_{1}}^{*}(\theta) + q \mathscr{V}_{2,1}(0) S_{wv_{1}}^{*}(\theta) + \mathscr{V}_{2,2}(0) S_{wv_{1}}^{*}(\theta), \quad (17)$$
$$-(\theta \mathscr{V}_{n,1}^{*}(\theta) - \mathscr{V}_{n,1}(0)) = -(\lambda + \eta) \mathscr{V}_{n,1}^{*}(\theta) + \lambda \mathscr{V}_{n-1,1}^{*}(\theta) + q \mathscr{V}_{n+1,1}(0) S_{wv_{1}}^{*}(\theta)$$

$$+ \mathscr{V}_{n+1,2}(0) S^*_{wv_1}(\theta), \quad n \ge 2,$$
(18)

$$-(\theta \mathscr{V}_{1,2}^{*}(\theta) - \mathscr{V}_{1,2}(0)) = -(\lambda + \eta) \mathscr{V}_{1,2}^{*}(\theta) + p \mathscr{V}_{1,1}(0) S_{wv_2}^{*}(\theta),$$
(19)

$$-(\theta \mathscr{V}_{n,2}^{*}(\theta) - \mathscr{V}_{n,2}(0)) = -(\lambda + \eta) \mathscr{V}_{n,2}^{*}(\theta) + p \mathscr{V}_{n,1}(0) S_{wv_{2}}^{*}(\theta) + \lambda \mathscr{V}_{n-1,2}^{*}(\theta),$$
(20)

$$-(\theta \mathscr{B}_{1,1}^{*}(\theta) - \mathscr{B}_{1,1}(0)) = -(\lambda + \delta) \mathscr{B}_{1,1}^{*}(\theta) + \lambda \mathscr{B}_{0} S_{rb_{1}}^{*}(\theta) + q \mathscr{B}_{2,1}(0) S_{rb_{1}}^{*}(\theta) + \mathscr{B}_{2,2}(0) S_{rb_{1}}^{*}(\theta) + \eta \mathscr{V}_{1,1} S_{rb_{1}}^{*}(\theta) + \gamma \mathscr{R}_{1,1} S_{rb_{1}}^{*}(\theta),$$
(21)

$$-(\theta \mathscr{B}_{n,1}^{*}(\theta) - \mathscr{B}_{n,1}(0)) = -(\lambda + \delta) \mathscr{B}_{n,1}^{*}(\theta) + \lambda \mathscr{B}_{n-1,1}^{*}(\theta) + q \mathscr{B}_{n+1,1}(0) S_{rb_{1}}^{*}(\theta) + \mathscr{B}_{n+1,2}(0) S_{rb_{1}}^{*}(\theta) + \eta \mathscr{V}_{n,1} S_{rb_{1}}^{*}(\theta) + \gamma \mathscr{R}_{n,1} S_{rb_{1}}^{*}(\theta), \quad n \ge 2,$$
(22)

$$-(\theta \mathscr{B}_{1,2}^{*}(\theta) - \mathscr{B}_{1,2}(0)) = -(\lambda + \delta) \mathscr{B}_{1,2}^{*}(\theta) + p \mathscr{B}_{1,1}(0) S_{rb_{2}}^{*}(\theta) + \eta \mathscr{V}_{1,2} S_{rb_{2}}^{*}(\theta) + \gamma \mathscr{R}_{1,2} S_{rb_{2}}^{*}(\theta), \quad (23)$$
$$-(\theta \mathscr{B}_{n,2}^{*}(\theta) - \mathscr{B}_{n,2}(0)) = -(\lambda + \delta) \mathscr{B}_{n,2}^{*}(\theta) + p \mathscr{B}_{n,1}(0) S_{rb_{2}}^{*}(\theta) + \lambda \mathscr{B}_{n-1,2}^{*}(\theta) + \eta \mathscr{V}_{n,2} S_{rb_{2}}^{*}(\theta)$$

$$+\gamma \mathscr{R}_{n,2} S^*_{rb_2}(\theta), \ n \ge 2, \tag{24}$$

$$-(\theta \mathscr{R}_{1,1}^{*}(\theta) - \mathscr{R}_{1,1}(0)) = -(\lambda + \gamma) \mathscr{R}_{1,1}^{*}(\theta) + \lambda \mathscr{R}_{0} S_{wb_{1}}^{*}(\theta) + q \mathscr{R}_{2,1}(0) S_{wb_{1}}^{*}(\theta) + \mathscr{R}_{2,2}(0) S_{wb_{1}}^{*}(\theta), \quad (25)$$
$$-(\theta \mathscr{R}_{n,1}^{*}(\theta) - \mathscr{R}_{n,1}(0)) = -(\lambda + \gamma) \mathscr{R}_{n,1}^{*}(\theta) + \lambda \mathscr{R}_{n-1,1}^{*}(\theta) + q \mathscr{R}_{n+1,1}(0) S_{wb_{1}}^{*}(\theta)$$

$$+\mathscr{R}_{n+1,2}(0)S_{wb_1}^*(\theta), \ n \ge 2,$$
(26)

$$-(\theta \mathscr{R}_{1,2}^{*}(\theta) - \mathscr{R}_{1,2}(0)) = -(\lambda + \gamma) \mathscr{R}_{1,2}^{*}(\theta) + p \mathscr{R}_{1,1}(0) S_{wb_{2}}^{*}(\theta),$$
(27)

$$-(\theta \mathscr{R}_{n,2}^*(\theta) - \mathscr{R}_{n,2}(0)) = -(\lambda + \gamma) \mathscr{R}_{n,2}^*(\theta) + p \mathscr{R}_{n,1}(0) S_{wb_2}^*(\theta) + \lambda \mathscr{R}_{n-1,2}^*(\theta).$$

$$\tag{28}$$

We get (29)-(31) by substituting $\theta = 0$ into (17)-(28) and then summing over *n* from 1 to ∞ .

$$q \mathscr{V}_{1,1}(0) + \mathscr{V}_{1,2}(0) = -\eta(\mathscr{V}_1^*(1,0) + \mathscr{V}_2^*(1,0)) + \lambda \mathscr{V}_0,$$
⁽²⁹⁾

$$q\mathcal{B}_{1,1}(0) + \mathcal{B}_{1,2}(0) = -\delta(\mathcal{B}_1^*(1,0) + \mathcal{B}_2^*(1,0)) + \eta(\mathcal{V}_1^*(1,0) + \mathcal{V}_2^*(1,0)) + \gamma(\mathcal{R}_1^*(1,0) + \mathcal{R}_2^*(1,0)) + \lambda \mathcal{B}_0,$$
(30)

$$q\mathscr{R}_{1,1}(0) + \mathscr{R}_{1,2}(0) = -\gamma(\mathscr{R}_1^*(1,0) + \mathscr{R}_2^*(1,0)) + \lambda \mathscr{R}_0.$$
(31)

From (11) and (31), we get

$$\delta(\mathscr{B}_{1}^{*}(1,0) + \mathscr{B}_{2}^{*}(1,0)) = \gamma(\mathscr{R}_{0} + \mathscr{R}_{1}^{*}(1,0) + \mathscr{R}_{2}^{*}(1,0)).$$
(32)

We obtain (33)-(38) by multiplying by z^n into (17)-(28) as well as summing over *n* from 1 to ∞ .

$$(\theta - \eta - \lambda + \lambda z)\mathscr{V}_{1}^{*}(z,\theta) = z^{-1}\mathscr{V}_{1}(z,0)(z - qS_{wv_{1}}^{*}(\theta)) - S_{wv_{1}}^{*}(\theta)(\lambda\mathscr{V}_{0}z - q\mathscr{V}_{1,1}(0) - \mathscr{V}_{1,2}(0) + z^{-1}\mathscr{V}_{2}(z,0)),$$
(33)

$$(\theta - \eta - \lambda + \lambda z)\mathcal{V}_2^*(z,\theta) = \mathcal{V}_2(z,0) - p\mathcal{V}_1(z,0)S_{wv_2}^*(\theta),$$
(34)

$$(\theta - \delta - \lambda + \lambda z)\mathscr{B}_{1}^{*}(z,\theta) = z^{-1}\mathscr{B}_{1}(z,0)(z - qS_{rb_{1}}^{*}(\theta)) - S_{rb_{1}}^{*}(\theta)(\eta\mathscr{V}_{1}^{*}(z,0) + \gamma\mathscr{R}_{1}^{*}(z,0) + \lambda\mathscr{B}_{0}z + z^{-1}\mathscr{B}_{2}(z,0) - q\mathscr{B}_{1,1}(0) - \mathscr{B}_{1,2}(0)),$$
(35)

$$(\theta - \delta - \lambda + \lambda z)\mathscr{B}_{2}^{*}(z,\theta) = \mathscr{B}_{2}(z,0) - pS_{rb_{2}}^{*}(\theta)\mathscr{V}_{1}(z,0) - \eta S_{rb_{2}}^{*}(\theta)\mathscr{V}_{2}^{*}(z,0) - \gamma S_{rb_{2}}^{*}(\theta)\mathscr{R}_{2}^{*}(z,0), \quad (36)$$

$$(\theta - \gamma - \lambda + \lambda z)\mathscr{R}_{1}^{*}(z,\theta) = z^{-1}\mathscr{R}_{1}(z,0)(z - qS_{wb_{1}}^{*}(\theta)) - S_{wb_{1}}^{*}(\theta)(\lambda\mathscr{R}_{0}z - q\mathscr{R}_{1,1}(0) - \mathscr{R}_{1,2}(0) + z^{-1}\mathscr{R}_{2}(z,0)),$$
(37)

$$(\theta - \gamma - \lambda + \lambda z)\mathscr{R}_2^*(z,\theta) = \mathscr{R}_2(z,0) - p\mathscr{R}_1(z,0)S_{wb_2}^*(\theta).$$
(38)

Inserting $\theta = (\eta + \lambda - \lambda z)$ into (33) and (34), $\theta = (\delta + \lambda - \lambda z)$ into (35) and (36) and $\theta = (\gamma + \lambda - \lambda z)$ into (37) and (38), we get

$$\mathscr{V}_{1}(z,0) = \frac{zS_{wv_{1}}^{*}(\eta + \lambda - \lambda z)(q \mathscr{V}_{1,1}(0) + \mathscr{V}_{1,2}(0) - \lambda \mathscr{V}_{0}z)}{qS_{wv_{1}}^{*}(\eta + \lambda - \lambda z) + pS_{wv_{1}}^{*}(\eta + \lambda - \lambda z)S_{wv_{2}}^{*}(\eta + \lambda - \lambda z) - z},$$
(39)

$$\mathscr{V}_{2}(z,0) = \frac{\left[pzS_{wv_{1}}^{*}(\eta + \lambda - \lambda z)S_{wv_{2}}^{*}(\eta + \lambda - \lambda z)(q\mathscr{V}_{1,1}(0) + \mathscr{V}_{1,2}(0) - \lambda\mathscr{V}_{0}z)\right]}{qS_{wv_{1}}^{*}(\eta + \lambda - \lambda z) + pS_{wv_{1}}^{*}(\eta + \lambda - \lambda z)S_{wv_{2}}^{*}(\eta + \lambda - \lambda z) - z},$$
(40)

$$\mathcal{B}_{1}(z,0) = \frac{\begin{bmatrix} zS_{rb_{1}}^{*}(\delta + \lambda - \lambda z)[q\mathscr{B}_{1,1}(0) + \mathscr{B}_{1,2}(0) \\ -\eta z^{-1}S_{rb_{2}}^{*}(\delta + \lambda - \lambda z)\mathscr{V}_{2}^{*}(z,0) - \gamma z^{-1}S_{rb_{2}}^{*}(\delta + \lambda - \lambda z)\mathscr{R}_{2}^{*}(z,0) \\ -\eta \mathscr{V}_{1}^{*}(z,0) - \gamma \mathscr{R}_{1}^{*}(z,0) - \lambda \mathscr{B}_{0}z] \end{bmatrix}}{\mathcal{R}_{1}(z,0) - \gamma \mathscr{R}_{1}^{*}(z,0) - \lambda \mathscr{R}_{0}z]},$$
(41)

$$\frac{gS_{1}(z,0) - \frac{gS_{rb_{1}}^{*}(\delta + \lambda - \lambda z) + pS_{rb_{1}}^{*}(\delta + \lambda - \lambda z)S_{rb_{2}}^{*}(\delta + \lambda - \lambda z) - z}{\left[S_{rb_{2}}^{*}(\delta + \lambda - \lambda z)\{pzS_{rb_{1}}^{*}(\delta + \lambda - \lambda z)(q\mathscr{B}_{1,1}(0) + \mathscr{B}_{1,2}(0))\right]}$$
(41)

$$\mathscr{R}_{1}(z,0) = \frac{zS_{wb_{1}}^{*}(\gamma + \lambda - \lambda z)(q\mathscr{R}_{1,1}(0) + \mathscr{R}_{1,2}(0) - \lambda \mathscr{R}_{0}z)}{qS_{wb_{2}}^{*}(\gamma + \lambda - \lambda z) + pS_{wb_{2}}^{*}(\gamma + \lambda - \lambda z)S_{wb_{2}}^{*}(\gamma + \lambda - \lambda z) - z},$$
(43)

$$\mathscr{R}_{2}(z,0) = \frac{pzS_{wb_{1}}^{*}(\gamma+\lambda-\lambda z)S_{wb_{2}}^{*}(\gamma+\lambda-\lambda z)(q\mathscr{R}_{1,1}(0)+\mathscr{R}_{1,2}(0)-\lambda\mathscr{R}_{0}z)}{qS_{wb_{1}}^{*}(\gamma+\lambda-\lambda z)+pS_{wb_{1}}^{*}(\gamma+\lambda-\lambda z)S_{wb_{2}}^{*}(\gamma+\lambda-\lambda z)-z}.$$
(44)

We get (45)-(50) by substituting (39) and (40) into (33) and (34), (41) and (42) into (35) and (36), and (43) and (44) into (37) and (38), respectively.

$$\mathscr{V}_{1}^{*}(z,\theta) = \frac{z(q \mathscr{V}_{1,1}(0) + \mathscr{V}_{1,2}(0) - \lambda \mathscr{V}_{0}z)(S_{wv_{1}}^{*}(\eta + \lambda - \lambda z) - S_{wv_{1}}^{*}(\theta))}{\left[\begin{array}{c} (\theta - \eta - \lambda + \lambda z)(q S_{wv_{1}}^{*}(\eta + \lambda - \lambda z)) \\ + p S_{wv_{1}}^{*}(\eta + \lambda - \lambda z)S_{wv_{2}}^{*}(\eta + \lambda - \lambda z) - z)\end{array}\right]},$$
(45)

$$\mathscr{V}_{2}^{*}(z,\theta) = \frac{\left[\begin{array}{c} pzS_{wv_{1}}^{*}(\eta+\lambda-\lambda z)(q\mathscr{V}_{1,1}(0)+\mathscr{V}_{1,2}(0)-\lambda\mathscr{V}_{0}z)\\ \times(S_{wv_{2}}^{*}(\eta+\lambda-\lambda z)-S_{wv_{2}}^{*}(\theta))\end{array}\right]}{\left[\begin{array}{c} (\theta-\eta-\lambda+\lambda z)(qS_{wv_{1}}^{*}(\eta+\lambda-\lambda z))\end{array}\right]},$$
(46)

$$\begin{bmatrix} +pS_{wv_{1}}^{*}(\eta + \lambda - \lambda z)S_{wv_{2}}^{*}(\eta + \lambda - \lambda z) - z) \end{bmatrix} \\ = \begin{bmatrix} z(q\mathscr{B}_{1,1}(0) + \mathscr{B}_{1,2}(0) - \eta z^{-1}S_{rb_{2}}^{*}(\delta + \lambda - \lambda z)\mathscr{V}_{2}^{*}(z,0) \\ -\gamma z^{-1}S_{rb_{2}}^{*}(\delta + \lambda - \lambda z)\mathscr{R}_{2}^{*}(z,0) - \eta \mathscr{V}_{1}^{*}(z,0) \\ -\gamma \mathscr{R}_{1}^{*}(z,0) - \lambda \mathscr{B}_{0}z)(S_{rb_{1}}^{*}(\delta + \lambda - \lambda z) - S_{rb_{1}}^{*}(\theta)) \end{bmatrix},$$

$$(47)$$

$$\mathscr{B}_{1}(z,\theta) = \frac{(\theta - \delta - \lambda + \lambda z)(qS_{rb_{1}}^{*}(\delta + \lambda - \lambda z))}{\left[\begin{array}{c} (\theta - \delta - \lambda + \lambda z)(qS_{rb_{1}}^{*}(\delta + \lambda - \lambda z)) \\ + pS_{rb_{1}}^{*}(\delta + \lambda - \lambda z)S_{rb_{2}}^{*}(\delta + \lambda - \lambda z) - z) \end{array} \right]}, \tag{47}$$

Communications in Mathematics and Applications, Vol. 13, No. 3, pp. 987-1002, 2022

$$\mathscr{B}_{*}^{*}(z,\theta) = \frac{\begin{cases} \{pzS_{rb_{1}}^{*}(\delta+\lambda-\lambda z)(q\mathscr{B}_{1,1}(0)+\mathscr{B}_{1,2}(0)-\eta z^{-1}S_{rb_{2}}^{*}(\delta+\lambda-\lambda z))\\ \mathscr{V}_{2}^{*}(z,0)-\gamma z^{-1}S_{rb_{2}}^{*}(\delta+\lambda-\lambda z)\mathscr{R}_{2}^{*}(z,0)-\eta \mathscr{V}_{1}^{*}(z,0)\\ -\gamma \mathscr{R}_{1}^{*}(z,0)-\lambda \mathscr{B}_{0}z)-(\eta \mathscr{V}_{2}^{*}(z,0)+\gamma \mathscr{R}_{2}^{*}(z,0))\\ \times (qS_{rb_{1}}^{*}(\delta+\lambda-\lambda z)+pS_{rb_{1}}^{*}(\delta+\lambda-\lambda z)S_{rb_{2}}^{*}(\delta+\lambda-\lambda z)-z)\}\\ \times (S_{rb_{2}}^{*}(\delta+\lambda-\lambda z)-S_{rb_{2}}^{*}(\theta)) \end{cases}$$

$$\tag{48}$$

$$\left[\begin{array}{c} (\theta - \delta - \lambda + \lambda z)(qS_{rb_1}^*(\delta + \lambda - \lambda z) \\ + pS_{rb_1}^*(\delta + \lambda - \lambda z)S_{rb_2}^*(\delta + \lambda - \lambda z) - z) \end{array}\right], \tag{43}$$

$$\mathscr{R}_{1}^{*}(z,\theta) = \frac{2(q\mathscr{R}_{1,1}(0) + \mathscr{R}_{1,2}(0) - \lambda\mathscr{R}_{0}z)(S_{wb_{1}}(\gamma + \lambda - \lambda z) - S_{wb_{1}}(\theta))}{\left[(\theta - \gamma - \lambda + \lambda z)(qS_{wb_{1}}^{*}(\gamma + \lambda - \lambda z)) - S_{wb_{1}}(\theta) + \lambda - \lambda z)(qS_{wb_{1}}^{*}(\gamma + \lambda - \lambda z) - z) \right]},$$

$$\mathscr{R}_{2}^{*}(z,\theta) = \frac{\left[pzS_{wb_{1}}^{*}(\gamma + \lambda - \lambda z)(q\mathscr{R}_{1,1}(0) + \mathscr{R}_{1,2}(0) - \lambda\mathscr{R}_{0}z) + (S_{wb_{2}}^{*}(\gamma + \lambda - \lambda z) - S_{wb_{2}}^{*}(\theta)) - (\delta - \gamma - \lambda + \lambda z)(qS_{wb_{1}}^{*}(\gamma + \lambda - \lambda z) - S_{wb_{2}}^{*}(\theta)) - (\delta - \gamma - \lambda + \lambda z)(qS_{wb_{1}}^{*}(\gamma + \lambda - \lambda z) - z) - \delta - (\delta - \gamma - \lambda + \lambda z)(qS_{wb_{1}}^{*}(\gamma + \lambda - \lambda z) - z) - \delta - (\delta - \gamma - \lambda + \lambda z)(qS_{wb_{1}}^{*}(\gamma + \lambda - \lambda z) - z) - \delta - (\delta - \gamma - \lambda + \lambda z)(qS_{wb_{1}}^{*}(\gamma + \lambda - \lambda z) - z) - \delta - (\delta - \gamma - \lambda + \lambda z)(qS_{wb_{1}}^{*}(\gamma + \lambda - \lambda z) - z) - \delta - (\delta - \gamma - \lambda + \lambda z)(qS_{wb_{1}}^{*}(\gamma + \lambda - \lambda z) - z) - \delta - (\delta - \gamma - \lambda + \lambda z)(qS_{wb_{1}}^{*}(\gamma + \lambda - \lambda z) - z) - \delta - (\delta - \gamma - \lambda + \lambda z)(qS_{wb_{1}}^{*}(\gamma + \lambda - \lambda z) - z) - \delta - (\delta - \gamma - \lambda + \lambda z)(qS_{wb_{1}}^{*}(\gamma + \lambda - \lambda z) - z) - \delta - (\delta - \gamma - \lambda + \lambda z)(qS_{wb_{1}}^{*}(\gamma + \lambda - \lambda z) - z) - \delta - (\delta - \gamma - \lambda + \lambda z)(qS_{wb_{1}}^{*}(\gamma + \lambda - \lambda z) - z) - \delta - (\delta - \gamma - \lambda + \lambda z)(qS_{wb_{1}}^{*}(\gamma + \lambda - \lambda z) - z) - z) - \delta - (\delta - \gamma - (\delta - \gamma - \lambda + \lambda z)(qS_{wb_{1}}^{*}(\gamma + \lambda - \lambda z) - z) - z) - \delta - (\delta - \gamma - (\delta - \gamma - \lambda + \lambda z)(qS_{wb_{1}}^{*}(\gamma + \lambda - \lambda z) - z) - z) - \delta - (\delta - (\delta - \gamma - \lambda + \lambda z)(qS_{wb_{1}}^{*}(\gamma + \lambda - \lambda z) - z) - \delta - (\delta - (\delta - \gamma - \lambda + \lambda z)(qS_{wb_{1}}^{*}(\gamma + \lambda - \lambda z) - z) - z) - \delta - (\delta - (\delta - \gamma - \lambda + \lambda z)(qS_{wb_{1}}^{*}(\gamma + \lambda - \lambda z) - z) - z) - \delta - (\delta - (\delta - \gamma - \lambda + \lambda z)(qS_{wb_{1}}^{*}(\gamma + \lambda - \lambda z) - z) - z) - \delta - (\delta - (\delta - \gamma - \lambda + \lambda z)(qS_{wb_{1}}^{*}(\gamma + \lambda - \lambda z) - z) - \delta - (\delta - (\delta - \gamma - \lambda + \lambda z)(qS_{wb_{1}}^{*}(\gamma + \lambda - \lambda z) - z) - z) - \delta - (\delta - (\delta - \gamma - \lambda - z)) - \delta - (\delta - (\delta - \gamma - \lambda - z)) - \delta - (\delta - (\delta - \gamma - \lambda - z)) - \delta - (\delta - (\delta - \gamma - \lambda - z)) - \delta - (\delta - (\delta - \gamma - \lambda - z)) - \delta - (\delta - (\delta - \gamma - \lambda - z)) - \delta - (\delta - (\delta - \gamma - \lambda - z)) - \delta - (\delta - (\delta - \gamma - \lambda - z)) - \delta - (\delta - (\delta - \gamma - \lambda - z)) - \delta - (\delta - (\delta - \gamma - \lambda - z)) - \delta - (\delta - (\delta - \gamma - \lambda - z)) - \delta - (\delta - (\delta - \gamma - z)) - \delta - (\delta - (\delta - \gamma - z$$

Eventually, the PGF of the system size, indicated by P(z), can be determined:

$$P(z) = \mathscr{V}_{0} + \mathscr{B}_{0} + \mathscr{R}_{0} + \mathscr{V}_{1}^{*}(z,0) + \mathscr{V}_{2}^{*}(z,0) + \mathscr{B}_{1}^{*}(z,0) + \mathscr{B}_{2}^{*}(z,0) + \mathscr{R}_{1}^{*}(z,0) + \mathscr{R}_{2}^{*}(z,0)$$

$$= \mathscr{V}_{0} + \mathscr{B}_{0} + \mathscr{R}_{0} + \left\{ \frac{\left[z(\lambda\mathscr{V}_{0}(1-z) - \eta\mathscr{V}_{1}^{*}(1,0) - \eta\mathscr{V}_{2}^{*}(1,0)\right]}{(1 - (qS_{wv_{1}}^{*}(\eta + \lambda - \lambda z) + pS_{wv_{1}}^{*}(\eta + \lambda - \lambda z)S_{wv_{2}}^{*}(\eta + \lambda - \lambda z))} \right] \\ + \left\{ \frac{\left[z(\lambda\mathscr{B}_{0}(1-z) + \eta(\mathscr{V}_{1}^{*}(1,0) - \mathscr{V}_{1}^{*}(z,0)) + \gamma(\mathscr{R}_{1}^{*}(1,0) - \mathscr{R}_{1}^{*}(z,0)) + \eta(\mathscr{V}_{2}^{*}(1,0) - \mathscr{R}_{1}^{*}(z,0)) + \eta(\mathscr{V}_{2}^{*}(1,0) - \mathscr{R}_{1}^{*}(z,0)) + \eta(\mathscr{V}_{2}^{*}(z,0)) + \gamma(\mathscr{R}_{2}^{*}(z,0) - z^{-1}S_{rb_{2}}^{*}(\delta + \lambda - \lambda z)\mathscr{R}_{2}^{*}(z,0)) - \mathscr{E}_{1}^{*}S_{1}^{*}(\delta + \lambda - \lambda z)\mathscr{R}_{2}^{*}(z,0)) + \gamma(\mathscr{R}_{2}^{*}(z,0) - z^{-1}S_{rb_{2}}^{*}(\delta + \lambda - \lambda z)\mathscr{R}_{2}^{*}(z,0)) - \mathscr{E}_{1}^{*}S_{1}^{*}(\delta + \lambda - \lambda z) + pS_{rb_{1}}^{*}(\delta + \lambda - \lambda z) + pS_{rb_{2}}^{*}(\delta + \lambda - \lambda z) - z) \right] \\ + \frac{\left[\frac{z(\lambda\mathscr{R}_{0}(1-z) - \eta\mathscr{R}_{2}^{*}(z,0))(qS_{rb_{1}}^{*}(\delta + \lambda - \lambda z) + pS_{rb_{1}}^{*}(\delta + \lambda - \lambda z))S_{rb_{2}}^{*}(\delta + \lambda - \lambda z) - z) \right] }{\left[(\delta + \lambda - \lambda z)(qS_{rb_{1}}^{*}(\delta + \lambda - \lambda z))S_{rb_{2}}^{*}(\delta + \lambda - \lambda z) - z) \right]} \\ + \frac{\left[\frac{z(\lambda\mathscr{R}_{0}(1-z) - \eta\mathscr{R}_{1}^{*}(1,0) - \gamma\mathscr{R}_{2}^{*}(1,0))}{(\gamma + \lambda - \lambda z) + pS_{rb_{1}}^{*}(\delta + \lambda - \lambda z)} - z) \right] } \right] }{\left[(\gamma + \lambda - \lambda z)(qS_{wb_{1}}^{*}(\gamma + \lambda - \lambda z))S_{wb_{2}}^{*}(\gamma + \lambda - \lambda z)} - z) \right]} \\ + \frac{\left[\frac{z(\lambda\mathscr{R}_{0}(1-z) - \eta\mathscr{R}_{1}^{*}(1,0) - \gamma\mathscr{R}_{2}^{*}(1,0))}{(\gamma + \lambda - \lambda z)} + pS_{wb_{1}}^{*}(\gamma + \lambda - \lambda z)} - z) \right] } \right] }{\left[(\gamma + \lambda - \lambda z)(qS_{wb_{1}}^{*}(\gamma + \lambda - \lambda z))S_{wb_{2}}^{*}(\gamma + \lambda - \lambda z)} - z) \right]} \\ = \frac{z(\lambda\mathscr{R}_{0}(1-z) - \eta\mathscr{R}_{1}^{*}(1,0) - \gamma\mathscr{R}_{2}^{*}(1,0))}{(\gamma + \lambda - \lambda z)} + pS_{wb_{1}}^{*}(\gamma + \lambda - \lambda z)} - z) } \right]$$

From Rouche's theorem, $qS_{wv_1}^*(\eta + \lambda - \lambda z) + pS_{wv_1}^*(\eta + \lambda - \lambda z)S_{wv_2}^*(\eta + \lambda - \lambda z) - z = 0$. For |z| < 1, there is only one solution, represented by z_0 . Assuming $z = z_0$, the denominator for $\mathscr{V}_1^*(z,0) + \mathscr{V}_2^*(z,0)$ be zero, the numerator must also be zero as well. Likewise, $qS_{rb_1}^*(\delta + \lambda - \lambda z) + pS_{rb_1}^*(\delta + \lambda - \lambda z)S_{rb_2}^*(\delta + \lambda - \lambda z) - z = 0$. For |z| < 1, there is only one solution, represented by z_1 . Assuming $z = z_1$, the denominator for $\mathscr{B}_1^*(z,0) + \mathscr{B}_2^*(z,0)$ be zero, the numerator must also be zero as well. Moreover, $qS_{wb_1}^*(\gamma + \lambda - \lambda z) + pS_{wb_1}^*(\gamma + \lambda - \lambda z)S_{wb_2}^*(\gamma + \lambda - \lambda z) - z = 0$. For |z| < 1, there is only one solution, represented by z_2 . Assuming $z = z_2$, the denominator for |z| < 1, there is only one solution, represented by z_2 .

 $\mathscr{R}_1^*(z,0)+\mathscr{R}_2^*(z,0)$ is zero, the numerator must also be zero as well. Thus, we obtain

$$\eta(\mathscr{V}_{1}^{*}(1,0) + \mathscr{V}_{2}^{*}(1,0)) = \lambda \mathscr{V}_{0}(1-z_{0}),$$

$$\delta(\mathscr{B}_{1}^{*}(1,0) + \mathscr{B}_{2}^{*}(1,0)) = \lambda \mathscr{B}_{0}(1-z_{1}) + \lambda \mathscr{V}_{0}(1-z_{0}) + \lambda \mathscr{R}_{0}(1-z_{2}) - \eta(\mathscr{V}_{1}^{*}(z_{1},0) - z_{1}^{-1}S_{rb_{2}}^{*}(\delta + \lambda - \lambda z_{1})\mathscr{V}_{1}^{*}(z_{1},0)) - \gamma(\mathscr{R}_{1}^{*}(z_{1},0) - z_{1}^{-1}S_{rb_{2}}^{*}(\delta + \lambda - \lambda z_{1})\mathscr{R}_{2}^{*}(z_{1},0)),$$

$$(53)$$

(54)

$$\gamma(\mathscr{R}_1^*(1,0) + \mathscr{R}_2^*(1,0)) = \lambda \mathscr{R}_0(1-z_2).$$

From (16), (6) and (51), \mathscr{R}_0 is obtained as

$$\mathscr{R}_0 = \frac{N_{R_0}}{D_{R_0}},$$

where

$$\begin{split} N_{R_{0}} &= \eta \lambda \delta \gamma (qS_{wv1}^{*}(\eta) + pS_{wv1}^{*}(\eta)S_{wv2}^{*}(\eta) - 1) (qS_{wb1}^{*}(\gamma) + pS_{wb1}^{*}(\gamma)S_{wb2}^{*}(\gamma) - 1) \\ &\times [\eta(1-z_{1})(qS_{wv1}^{*}(\eta+\lambda-\lambda z_{1}) + pS_{wv1}^{*}(\eta+\lambda-\lambda z_{1})S_{wv2}^{*}(\eta+\lambda-\lambda z_{1}) - z_{1}) \\ &+ \lambda(1-z_{0})(qS_{wv1}^{*}(\eta+\lambda-\lambda z_{1}) - pS_{wv1}^{*}(\eta+\lambda-\lambda z_{1})S_{wv2}^{*}(\eta+\lambda-\lambda z_{1}) - z_{1}) \\ &- \lambda(1-z_{0})(B_{1}(z_{1})(S_{wv1}^{*}(\eta+\lambda-\lambda z_{1}) - z_{1}) - pz_{1}^{-1}B_{2}(z_{1}) \\ &\times S_{rb_{2}}^{*}(\delta+\lambda-\lambda z_{1})S_{wv1}^{*}(\eta+\lambda-\lambda z_{1})(S_{wv2}^{*}(\eta+\lambda-\lambda z_{1}) - z_{1}))] \\ &\times (qS_{wb1}^{*}(\gamma+\lambda-\lambda z_{1}) + pS_{wb1}^{*}(\gamma+\lambda-\lambda z_{1})S_{wb2}^{*}(\gamma+\lambda-\lambda z_{1}) - z_{1}), \\ D_{R_{0}} &= \eta \lambda(\delta+\gamma)(qS_{wv1}^{*}(\eta) + pS_{wv1}^{*}(\eta)S_{wv2}^{*}(\eta) - 1)(qS_{wb1}^{*}(\gamma) + pS_{wb1}^{*}(\gamma)S_{wb2}^{*}(\gamma) - 1) \\ &\times (qS_{wb1}^{*}(\gamma+\lambda-\lambda z_{1}) + pS_{wv1}^{*}(\eta)S_{wv2}^{*}(\eta) - 1)(qS_{wb1}^{*}(\gamma) + \lambda-\lambda z_{1}) - z_{1}) \\ &\times (\eta(1-z_{1})(qS_{wv1}^{*}(\eta+\lambda-\lambda z_{1}) + pS_{wv1}^{*}(\eta+\lambda-\lambda z_{1})S_{wv2}^{*}(\eta+\lambda-\lambda z_{1}) - z_{1}) \\ &\times [\eta(1-z_{1})(qS_{wv1}^{*}(\eta+\lambda-\lambda z_{1}) + pS_{wv1}^{*}(\eta+\lambda-\lambda z_{1})S_{wv2}^{*}(\eta+\lambda-\lambda z_{1}) - z_{1}) \\ &+ \lambda(1-z_{0})(B_{1}(z_{1})(S_{wv1}^{*}(\eta+\lambda-\lambda z_{1}) - z_{1}) - pz_{1}^{-1}B_{2}(z_{1})S_{rb2}^{*}(\delta+\lambda-\lambda z_{1}) - z_{1}) \\ &\times S_{wv1}^{*}(\eta+\lambda-\lambda z_{1}) + pS_{wv1}^{*}(\eta)S_{wv2}^{*}(\eta) - 1)(qS_{wb1}^{*}(\gamma) + pS_{wb1}^{*}(\gamma)S_{wb2}^{*}(\gamma) - 1) \\ &\times [\eta(qS_{wv1}^{*}(\eta+\lambda-\lambda z_{1}) + pS_{wv1}^{*}(\eta+\lambda-\lambda z_{1})S_{wv2}^{*}(\eta+\lambda-\lambda z_{1}) - z_{1}) \\ &\times (\gamma(qS_{wv1}^{*}(\eta+\lambda-\lambda z_{1}) + pS_{wv1}^{*}(\eta+\lambda-\lambda z_{1})S_{wb2}^{*}(\gamma+\lambda-\lambda z_{1}) - z_{1}) \\ &\times (\gamma(qS_{wb1}^{*}(\gamma+\lambda-\lambda z_{1}) - z_{1})))+ \gamma(qS_{wb1}^{*}(\gamma+\lambda-\lambda z_{1}) + pS_{w1}^{*}(\eta+\lambda-\lambda z_{1}) - z_{1}) \\ &\times S_{wb2}^{*}(\gamma+\lambda-\lambda z_{1}) - z_{1}))\lambda(1-z_{0})(R_{wv1}^{*}(\eta+\lambda-\lambda z_{1}) + pS_{w1}^{*}(\eta+\lambda-\lambda z_{1}) - z_{1}) \\ &\times S_{wv2}^{*}(\eta+\lambda-\lambda z_{1}) - z_{1}) (\lambda(1-z_{0})(R_{wv1}^{*}(\eta+\lambda-\lambda z_{1}) + pS_{w1}^{*}(\eta+\lambda-\lambda z_{1}) - z_{1})) \\ &\times S_{wv2}^{*}(\eta+\lambda-\lambda z_{1}) - z_{1}) (\lambda(1-z_{0})(R_{wv1}^{*}(\eta+\lambda-\lambda z_{1})) + pS_{w1}^{*}(\eta+\lambda-\lambda z_{1}) - z_{1}) \\ &\times S_{wv2}^{*}(\eta+\lambda-\lambda z_{1}) - z_{1}) (\lambda(1-z_{0})(R_{wv1}^{*}(\eta+\lambda-\lambda z_{1}) - z_{1})) \\ &\times (\lambda(qS_{wv1}^{$$

$$\times (qS_{wb_1}^*(\gamma+\lambda-\lambda z_1)+pS_{wb_1}^*(\gamma+\lambda-\lambda z_1)S_{wb_2}^*(\gamma+\lambda-\lambda z_1)-z_1)](\eta+\lambda-\lambda z_0)\}$$

where

$$\begin{split} A_{1}(z_{1}) &= \frac{\gamma z_{1}(z_{1}-z_{2})(S_{wb_{1}}^{*}(\gamma+\lambda-\lambda z_{1})-1)}{(1-z_{2})(\gamma+\lambda-\lambda z_{1})(S_{wb_{1}}^{*}(\gamma+\lambda-\lambda z_{1})-z_{1})},\\ A_{2}(z_{1}) &= \frac{\gamma z_{1}(z_{1}-z_{2})(S_{wb_{2}}^{*}(\gamma+\lambda-\lambda z_{1})-1)}{(1-z_{2})(\gamma+\lambda-\lambda z_{1})(S_{wb_{2}}^{*}(\gamma+\lambda-\lambda z_{1})-z_{1})},\\ B_{1}(z_{1}) &= \frac{\eta z_{1}(z_{1}-z_{0})(S_{wv_{1}}^{*}(\eta+\lambda-\lambda z_{1})-1)}{(1-z_{0})(\eta+\lambda-\lambda z_{1})(S_{wv_{1}}^{*}(\eta+\lambda-\lambda z_{1})-z_{1})},\\ B_{2}(z_{1}) &= \frac{\eta z_{1}(z_{1}-z_{0})(S_{wv_{2}}^{*}(\eta+\lambda-\lambda z_{1})-z_{1})}{(1-z_{0})(\eta+\lambda-\lambda z_{1})(S_{wv_{2}}^{*}(\eta+\lambda-\lambda z_{1})-z_{1})}. \end{split}$$

(Kim et al. [10], and Kim and Lee [9])

Special Cases

- *Case* I: In our model if we place p = 0 and $\eta \to \infty$ then our model is remodeled as "An M/G/1 queue with disasters and working breakdowns" (Kim and Lee [9]).
- Case II: In our model if we place p = 0, $\eta \to \infty$ and $\delta = 0$ then our model is remodeled as "An M/G/1 queue" (Medhi [15]).

4. Metrics of Effectiveness

Size of the Average System

Allow L_{wv} , L_{rb} and L_{wb} to represent the average system size throughout working vacation, typical busy and repair periods, respectively and let W_{wv} , W_{rb} and W_{wb} represent the average waiting times of customers in the system throughout working vacation, typical busy and repair periods, respectively. Then

(a) Differentiating $(\mathscr{V}_1^*(z,0) + \mathscr{V}_2^*(z,0))$ with regard to z and calculating at z = 1 gives the expected number of customers in the system (L_{wv}) .

$$L_{wv} = \frac{\lambda \mathscr{V}_{0} \left[\begin{array}{c} \eta(qS_{wv_{1}}^{*}(\eta) + pS_{wv_{1}}^{*}(\eta)S_{wv_{2}}^{*}(\eta) - 1)\{(1 - z_{0})(qS_{wv_{1}}^{*}(\eta) + pS_{wv_{1}}^{*}(\eta) \\ \times S_{wv_{2}}^{*}(\eta) - 1) + (qS_{wv_{1}}^{*}(\eta) + pS_{wv_{1}}^{*}(\eta)S_{wv_{2}}^{*}(\eta) - 1) - \lambda(1 - z_{0})(qS_{wv_{1}}^{*'}(\eta) \\ + pS_{wv_{1}}^{*}(\eta)S_{wv_{2}}^{*}(\eta) + pS_{wv_{1}}^{*}(\eta)S_{wv_{2}}^{*'}(\eta))\} - (1 - z_{0})(qS_{wv_{1}}^{*}(\eta) \\ + pS_{wv_{1}}^{*}(\eta)S_{wv_{2}}^{*}(\eta) - 1)\{-\lambda(qS_{wv_{1}}^{*}(\eta) + pS_{wv_{1}}^{*}(\eta)S_{wv_{2}}^{*}(\eta) - 1) \\ + \eta(-q\lambda S_{wv_{1}}^{*'}(\eta) - p\lambda S_{wv_{1}}^{*'}(\eta)S_{wv_{2}}^{*}(\eta) - p\lambda S_{wv_{1}}^{*'}(\eta)S_{wv_{2}}^{*}(\eta) - 1)\} \right]}.$$

We used Little's formula to calculate $W_{wv} = \frac{L_{wv}}{\lambda}$ and obtained the expected number of waiting customers in the system during the working vacation.

(b) Now, differentiating $(\mathscr{B}_{1}^{*}(z,0) + \mathscr{B}_{2}^{*}(z,0))$ with regard to z and calculating at z = 1 provides the expected number of customers in the system during typical busy (L_{rb}) .

$$\begin{split} L_{rb} &= \frac{N_{rb}}{D_{rb}},\\ N_{rb} &= \delta(qS^*_{rb_1}(\delta) + pS^*_{rb_1}(\delta)S^*_{rb_2}(\delta) - 1)\{(\lambda \mathcal{B}_0(1-z_1) + \eta(\mathcal{V}_1^*(1,0) - \mathcal{V}_1^*(z_1,0)) \} \} \end{split}$$

Communications in Mathematics and Applications, Vol. 13, No. 3, pp. 987-1002, 2022

$$\begin{split} &+\gamma(\mathscr{R}_{1}^{*}(1,0)-\mathscr{R}_{1}^{*}(z_{1},0))+\eta(S_{rb_{2}}^{*}(\delta)\mathscr{Y}_{2}^{*}(1,0)-z_{1}^{-1}S_{rb_{2}}^{*}(\delta+\lambda-\lambda z_{1})\mathscr{Y}_{2}^{*}(z_{1},0))\\ &+\gamma(S_{rb_{2}}^{*}(\delta)\mathscr{R}_{2}^{*}(1,0)-z_{1}^{-1}S_{rb_{2}}^{*}(\delta+\lambda-\lambda z_{1})\mathscr{R}_{2}^{*}(z_{1},0)))(qS_{rb_{1}}^{*}(\delta)+pS_{rb_{1}}^{*}(\delta)S_{rb_{2}}^{*}(\delta)-1)\\ &+(\lambda\mathscr{B}_{0}+\eta\mathscr{Y}_{1}^{*'}(1,0)+\gamma\mathscr{R}_{1}^{*'}(1,0)-\etaS_{rb_{2}}^{*}(\delta)\mathscr{Y}_{2}^{*}(1,0)-\eta\lambda S_{rb_{2}}^{*'}(\delta)\mathscr{Y}_{2}^{*}(1,0)\\ &+\etaS_{rb_{2}}^{*}(\delta)\mathscr{Y}_{2}^{*'}(1,0)-\gammaS_{rb_{2}}^{*}(\delta)\mathscr{R}_{2}^{*}(1,0)-\gamma\lambda S_{rb_{2}}^{*'}(\delta)\mathscr{R}_{2}^{*}(1,0)+\gammaS_{rb_{2}}^{*}(\delta)\mathscr{R}_{2}^{*'}(1,0))\\ &\times(qS_{rb_{1}}^{*}(\delta)+pS_{rb_{1}}^{*}(\delta)S_{rb_{2}}^{*}(\delta)-1)+(\lambda\mathscr{B}_{0}(1-z_{1})+\eta(\mathscr{Y}_{1}^{*}(1,0)-\mathscr{Y}_{1}^{*}(z_{1},0))\\ &+\gamma(\mathscr{R}_{1}^{*}(1,0)-\mathscr{R}_{1}^{*}(z_{1},0))+\eta(S_{rb_{2}}^{*}(\delta)\mathscr{Y}_{2}^{*}(1,0)-z_{1}^{-1}S_{rb_{2}}^{*}(\delta+\lambda-\lambda z_{1})\mathscr{Y}_{2}^{*}(z_{1},0))\\ &+\gamma(\mathscr{R}_{1}^{*}(\delta)\mathscr{R}_{2}^{*}(1,0)-z_{1}^{-1}S_{rb_{2}}^{*}(\delta+\lambda-\lambda z_{1})\mathscr{R}_{2}^{*}(z_{1},0)))(-q\lambda S_{rb_{1}}^{*'}(\delta)-p\lambda S_{rb_{1}}^{*'}(\delta)S_{rb_{2}}^{*'}(\delta)\\ &-p\lambda S_{rb_{1}}^{*}(\delta)\mathscr{R}_{2}^{*}(0)-1(\eta\mathscr{Y}_{2}^{*}(1,0)+\gamma\mathscr{R}_{2}^{*}(1,0))(-q\lambda S_{rb_{1}}^{*'}(\delta)-p\lambda S_{rb_{1}}^{*'}(\delta)S_{rb_{2}}^{*}(\delta)\\ &-p\lambda S_{rb_{1}}^{*}(\delta)S_{rb_{2}}^{*}(\delta)-1)(S_{rb_{2}}^{*}(\delta)-1)+(\eta\mathscr{Y}_{2}^{*'}(1,0)+\gamma\mathscr{R}_{2}^{*'}(1,0))\\ &\times(qS_{rb_{1}}^{*}(\delta)+pS_{rb_{1}}^{*}(\delta)S_{rb_{2}}^{*}(\delta)-1)(S_{rb_{2}}^{*}(\delta)-1)-\lambda(\eta\mathscr{Y}_{2}^{*}(1,0)+\gamma\mathscr{R}_{2}^{*}(1,0))\\ &\times(qS_{rb_{1}}^{*}(\delta)+pS_{rb_{1}}^{*}(\delta)S_{rb_{2}}^{*}(\delta)-1)S_{rb_{2}}^{*'}(\delta)\}\\ &-((\mathcal{A}_{0}(1-z_{1})+\eta(\mathscr{Y}_{1}^{*}(1,0)-\mathscr{Y}_{1}^{*}(z_{1},0))+\gamma(\mathscr{R}_{1}^{*}(1,0)-\mathscr{R}_{1}^{*}(z_{1},0))\\ &+\gamma(S_{rb_{2}}^{*}(\delta)\mathscr{R}_{2}^{*}(1,0)-z_{1}^{-1}S_{rb_{2}}^{*}(\delta+\lambda-\lambda z_{1})\mathscr{Y}_{2}^{*}(z_{1},0)))\\ &+\gamma(S_{rb_{2}}^{*}(\delta)\mathscr{R}_{2}^{*}(1,0)-z_{1}^{-1}S_{rb_{2}}^{*}(\delta+\lambda-\lambda z_{1})\mathscr{R}_{2}^{*}(z_{1},0)))(qS_{rb_{1}}^{*}(\delta)+pS_{rb_{1}}^{*}(\delta)S_{rb_{2}}^{*}(\delta)-1)\}\\ &-((\mathcal{A}_{0}(1-z_{1})+\eta(\mathscr{Y}_{1}^{*}(1,0))+\gamma(\mathscr{R}_{1}^{*}(\delta)+pS_{rb_{1}}^{*}(\delta))S_{rb_{2}}^{*}(\delta)-1))(qS_{rb_{2}}^{*}(\delta)-1))(qS_{rb_{2}}^{*}(\delta)-1)]\\ &+\gamma(S_{rb_{2}}^{*}(\delta)\mathscr{R}_{2}^{*}(1,0)-z_{1}^{-1}S_{rb_$$

We used Little's formula to calculate $W_{rb} = \frac{L_{rb}}{\lambda}$ and obtained the expected number of waiting customers in the system during typical busy.

 D_{rb}

(c) Then differentiating $(\mathscr{R}_1^*(z,0) + \mathscr{R}_2^*(z,0))$ with regard to z and calculating at z = 1 gives the expected number of customers in the system during repair periods (L_{wb}) .

$$\mathcal{L}_{wb} = \frac{ \lambda \mathscr{R}_{0} \left[\begin{array}{c} \gamma(qS_{wb_{1}}^{*}(\gamma) + pS_{wb_{1}}^{*}(\gamma)S_{wb_{2}}^{*}(\gamma) - 1)\{(1 - z_{2})(qS_{wb_{1}}^{*}(\gamma) + pS_{wb_{1}}^{*}(\gamma) \\ \times S_{wb_{2}}^{*}(\gamma) - 1) + (qS_{wb_{1}}^{*}(\gamma) + pS_{wb_{1}}^{*}(\gamma)S_{wb_{2}}^{*}(\gamma) - 1) - \lambda(1 - z_{2})(qS_{wb_{1}}^{*'}(\gamma) \\ + pS_{wb_{1}}^{*}(\gamma)S_{wb_{2}}^{*}(\gamma) + pS_{wb_{1}}^{*}(\gamma)S_{wb_{2}}^{*'}(\gamma))\} - (1 - z_{2})(qS_{wb_{1}}^{*}(\gamma) \\ + pS_{wb_{1}}^{*}(\gamma)S_{wb_{2}}^{*}(\gamma) - 1)\{-\lambda(qS_{wb_{1}}^{*}(\gamma) + pS_{wb_{1}}^{*}(\gamma)S_{wb_{2}}^{*}(\gamma) - 1) \\ + \gamma(-q\lambda S_{wb_{1}}^{*'}(\gamma) - p\lambda S_{wb_{1}}^{*'}(\gamma)S_{wb_{2}}^{*}(\gamma) - p\lambda S_{wb_{1}}^{*'}(\gamma)S_{wb_{2}}^{*}(\gamma) - 1) \} \right] } \\ \frac{[\gamma(qS_{wb_{1}}^{*}(\gamma) + pS_{wb_{1}}^{*}(\gamma)S_{wb_{2}}^{*}(\gamma) - 1)]^{2}}{[\gamma(qS_{wb_{1}}^{*}(\gamma) + pS_{wb_{1}}^{*}(\gamma)S_{wb_{2}}^{*}(\gamma) - 1)]^{2}}$$

We used Little's formula to calculate $W_{wb} = \frac{L_{wb}}{\lambda}$ and obtained the expected number of waiting customers in the system during repair periods.

5. Statistical Outcomes

Setting q = 0.8, p = 0.2, $\mu_{rb_2} = 2.6$, $\mu_{wb_1} = 2.7$, $\mu_{wb_2} = 2.8$, $\mu_{wv_1} = 2.5$, $\mu_{wv_2} = 2.6$, $\eta = 2.1$, $\delta = 2.5$, $\gamma = 4.8$, $z_0 = 0.5$, $z_1 = 0.5$, $z_2 = 0.5$ and changing η from 2.1 to 2.3 insteps of 0.1, δ from 2.5 to 3.5 insteps of 0.5 and γ from 4.8 to 6.8 insteps of 1.0. We calculated the measured value of L_{wv}

and tabulated them in Table 1, Table 2, and Table 3, respectively. The correlating graphs for λ versus L_{wv} are seen in Figure 1, Figure 2 and Figure 3, respectively. As λ rises, L_{wv} falls for various values of η , whereas L_{wv} rises for various values of δ and γ , as seen in the graphs.



Figure 3. λ vs. L_{wv}

Table 3. λ vs. L_{wv}

 $\eta = 2.3$

0.0827

0.1082

0.1344

0.1608

0.1872

0.2131

 $\delta = 3.5$

0.1018

0.1339

0.1671

0.2008

0.2345

0.2671

 $\gamma = 6.8$

0.1002

0.1317

0.1642

0.1972

0.2303

0.2633

Setting q = 0.8, p = 0.2, $\mu_{wb_1} = 2.3$, $\mu_{wb_2} = 2.4$, $\mu_{rb_1} = 2.2$, $\mu_{rb_2} = 2.1$, $\mu_{wv_1} = 2.5$, $\mu_{wv_2} = 2.3$, $\eta = 2.1$, $\delta = 2.5$, $\gamma = 2.8$, $z_0 = 0.5$, $z_1 = 0.5$, $z_2 = 0.5$ and changing η from 2.1 to 4.1 insteps of 1.0, δ from 2.5 to 4.5 insteps of 1.0 and γ from 2.8 to 3.6 insteps of 0.4. We calculated the measured value of L_{rb} and tabulated them in Table 4, Table 5 and Table 6, respectively. The correlating graphs for λ versus L_{rb} are seen in Figure 4, Figure 5 and Figure 6, respectively. As λ rises, L_{rb} rises for various values of η and γ , L_{rb} falls for various values of δ , as seen in the graphs.



Setting q = 0.8, p = 0.2, $\mu_{wb_1} = 2.7$, $\mu_{wb_2} = 2.8$, $\mu_{wv_1} = 2.5$, $\mu_{rb_2} = 2.6$, $\eta = 2.2$, $\delta = 2.7$, $\gamma = 2.9$, $z_0 = 0.5$, $z_1 = 0.5$, $z_2 = 0.5$ and changing η from 2.2 to 2.6 insteps of 0.2, δ from 2.7 to 4.7 insteps of 1.0 and γ from 2.9 to 4.9 insteps of 1.0. We calculated the measured value of L_{wb} and tabulated them in Table 7, Table 8 and Table 9, respectively. The correlating graphs for λ versus L_{wb} are seen in Figure 7, Figure 8 and Figure 9, respectively. As λ rises, L_{wb} falls for various values of η and γ whereas L_{wb} rises for various values of δ , as seen in the graphs.



| Figure | 9. | λ | vs. | L_{wb} |
|--------|----|---|-----|----------|

λ

| λ | $\eta = 2.2$ | $\eta = 2.4$ | $\eta = 2.6$ |
|-----|--------------|--------------|--------------|
| 1.0 | 0.0767 | 0.0709 | 0.0661 |
| 1.2 | 0.1047 | 0.0968 | 0.0904 |
| 1.4 | 0.1352 | 0.1252 | 0.1169 |
| 1.6 | 0.1678 | 0.1555 | 0.1453 |
| 1.8 | 0.2021 | 0.1873 | 0.1751 |
| 2.0 | 0.2378 | 0.2205 | 0.2062 |

Table 7. λ vs. L_{wb}

| λ | $\delta = 2.7$ | $\delta = 3.7$ | $\delta = 4.7$ |
|-----|----------------|----------------|----------------|
| 1.0 | 0.0767 | 0.0799 | 0.0819 |
| 1.2 | 0.1047 | 0.1098 | 0.1129 |
| 1.4 | 0.1352 | 0.1426 | 0.1472 |
| 1.6 | 0.1678 | 0.1779 | 0.1843 |
| 1.8 | 0.2021 | 0.2153 | 0.2236 |
| 2.0 | 0.2378 | 0.2543 | 0.2649 |

Table 8. λ vs. L_{wb}

| λ | $\gamma = 2.9$ | $\gamma = 3.9$ | $\gamma = 4.9$ |
|-----|----------------|----------------|----------------|
| 1.0 | 0.0767 | 0.0560 | 0.0424 |
| 1.2 | 0.1047 | 0.0768 | 0.0582 |
| 1.4 | 0.1352 | 0.0997 | 0.0757 |
| 1.6 | 0.1678 | 0.1242 | 0.0945 |
| 1.8 | 0.2021 | 0.1501 | 0.1145 |
| 2.0 | 0.2378 | 0.1772 | 0.1354 |

Table 9. λ vs. L_{wb}

6. Conclusion

We looked at a M/G/1 queue with second optional service, disasters, working breakdowns and working vacation is evaluated. We established steady state queue length distributions for idle server, typical busy service and delayed service using the PGF and supplementary variable technique. Also, we perform some special cases. Eventually, the statistical outcomes and metrics of effectiveness are computed.

Competing Interests

The authors declare that they have no competing interests.

Authors' Contributions

All the authors contributed significantly in writing this article. The authors read and approved the final manuscript.

References

- Y. Baba, Analysis of a GI/M/1 queue with multiple working vacations, *Operations Research Letters* 33(2), 2005, 201 – 209, DOI: 10.1016/j.orl.2004.05.006.
- [2] J. Cao and K. Cheng, Analysis of M/G/1 queueing system with repairable service station, Acta Mathematicae Applicatae Sinica 5(2) (1982), 113 – 127.
- [3] A. Chen and E. Renshaw, The M/M/1 queue with mass exodus and mass arrivals when empty, *Journal of Applied Probability* **34**(1) (1997), 192 207, DOI: 10.2307/3215186.
- [4] G. Choudhury, L. Tadj and M. Paul, Steady state analysis of an M^x/G/1 queue with two phase service and Bernoulli vacation schedule under multiple vacation policy, *Applied Mathematical Modelling* 31(6) (2007), 1079 – 1091, DOI: 10.1016/j.apm.2006.03.032.
- [5] G. Jain and K. Sigman, A Pollaczek-Khintchine formula for M/G/1 queues with disasters, *Journal of Applied Probability* **33**(4) (1996), 1191 1200, DOI: 10.2307/3214996.
- [6] T. Jiang and L. Liu, The GI/M/1 queue in a multi-phase service environment with disasters and working breakdowns, *International Journal of Computer Mathematics* 94(4) (2017), 707 – 726, DOI: 10.1080/00207160.2015.1128531.
- [7] K. Kalidass and R. Kasthuri, A queue with working breakdowns, Computers & Industrial Engineering 63(4) (2012), 779 783, DOI: 10.1016/j.cie.2012.04.018.
- [8] R. Kalyanaraman and S. P. B. Murugan, M/G/1 queue with second optional service and with server vacation, *Annamalai University Science Journal* **45** (2008), 129 134.
- [9] B. K. Kim and D. H. Lee, The M/G/1 queue with disasters and working breakdowns, *Applied Mathematical Modelling* **38**(5-6) (2014), 1788 1798, DOI: 10.1016/j.apm.2013.09.016.
- [10] J. D. Kim, D. W. Choi and K. C. Chae, Analysis of queue-length distribution of the M/G/1 queue with working vacations, in: *Proceedings of Hawaii international Conference on Statistics and Related Fields*, June 5-8, 2003, 1191 – 1200.
- [11] B. K. Kumar and D. Arivudainambi, Transient solution of an M/M/1 queue with catastrophes, Computers & Mathematics with Applications 40(10-11) (2000), 1233 – 1240, DOI: 10.1016/S0898-1221(00)00234-0.
- [12] D. H. Lee, W. S. Yang and H. M. Park, Geo/G/1 queues with disasters general repair times, Applied Mathematical Modelling 35 (2011), 1561 – 1570, DOI: 10.1016/j.apm.2010.09.032.
- [13] C. D. Liou, Markovian queue optimisation analysis with an unreliable server subject to working breakdowns and impatient customers, *International Journal of Systems Science* 46(12) (2015), 2165 2182, DOI: 10.1080/00207721.2013.859326.
- [14] K. C. Madan, An M/G/1 queue with second optional service, *Queueing Systems* 34 (2000), 37 46, DOI: 10.1023/A:1019144716929.
- [15] J. Medhi, Stochastic Processes, Wiley Eastern (1982).
- [16] S. P. B. Murugan and K. Santhi, An M/G/1 queue with server breakdown and single working vacation, Applications and Applied Mathematics 10(2) (2015), 678 – 693, DOI: 10.12988/imf.2013.3473.

- [17] M. J. Parveen and M. I. A. Begum, Analysis of the batch arrival M^X/G/1 queue with exponentially distributed Multiple Working Vacations, *International Journal of Mathematical Sciences & Applications* 1(2) (2011), 865 – 880, URL: https://ijmsa.yolasite.com/resources/40-may.pdf.
- [18] K. Santhi and S. P. B. Murugan, An M/G/1 queue with two stage heterogeneous service and single working vacation, *International Mathematical Forum* 8(27) (2013), 1323 – 1336, DOI: 10.12988/imf.2013.3473.
- [19] L. D. Servi and S. G. Finn, M/M/1 queues with working vacations (M/M/1/WV), Performance Evaluation 50(1) (2002), 41 – 52, DOI: 10.1016/S0166-5316(02)00057-3.
- [20] V. Sridharan and P. J. Jayasree, Some characteristics on a finite queue with normal partial and total failures, *Microelectronics Reliability* 36(2) (1996), 265 – 267, DOI: 10.1016/0026-2714(95)00088-J.
- [21] R. Sudhesh, Transient analysis of a queue with system disasters and customer impatience, Queueing Systems 66 (2010), 95 – 105, DOI: 10.1007/s11134-010-9186-x.
- [22] V. Thangaraj and S. Vanitha, M/G/1 queue with two-stage heterogeneous service compulsory server vacation and random breakdowns, *International Journal of Contemporary Mathematical Sciences* 5(7) (2010), 307 – 322.
- [23] K. Thiruvengadam, Queueing with breakdowns, Operations Research 11(1) (1963), 62 71, DOI: 10.1287/opre.11.1.62.
- [24] D. Towsley and S. K. Tripathi, A single server priority queue with server failures and queue flushing, Operations Research Letters 10(6) (1991), 353 – 362, DOI: 10.1016/0167-6377(91)90008-D.
- [25] D.-A. Wu and H. Takagi, M/G/1 queue with multiple working vacations, *Performance Evaluation* 63(7) (2006), 654 – 681, DOI: 10.1016/j.peva.2005.05.005.
- [26] D.-Y. Yang and Y.-Y. Wu, Analysis of a finite capacity system with working breakdowns and retention of impatient customers, *Journal of Manufacturing Systems* 44(1) (2017), 207 – 216, DOI: 10.1016/j.jmsy.2017.05.010.
- [27] W. S. Yang, J. D. Kim and K. C. Chae, Analysis of M/G/1 stochastic clearing systems, *Stochastic Analysis and Applications* 20(5) (2002), 1083 1100, DOI: 10.1081/SAP-120014554.

